B aundan

THE MOST ADVANCED EMBROIDERY MACHINE SINCE 1959



Bandan

5. Spider Frames

Drop Table KY-CII/KT-S1501CII (450X520/520)

4 N\
- 4
FR10190A
BROWN ROUND FRAME (¢190mm)
K / ZEALFE (¢19cm)
QS SPIDER BASE FRAME ASSY (¢190mm,P=520mm)
QS ZAIRARZ—=~—ZHE ASSY (¢19cm,P=520mm)
Parts List
4 N\ 4 N\ 4 N\
- 4 - 4 - 4
RA730171QS RA730192 RA730182 FR930060

QS SPIDER FRAME BRACKET FOR 19CM
QSA/NAH—FEe:H 19CMH

(S SPIDER BRACKET L (0 190mn,P=520m)
QSAI A= T RE J (919m,P=520m)

. N A\
- J U J
RA730340%2pcs.  FR930660%4pcs.

JOINT FELT FOR SPIDER FRAME T=4mn
ANAZ—RET )V T=4mn

SPIDER FRAME SPACER FOR 19CM (T=0.5m)
ANAR=AN=4 = T=0.5m 19CMJ]

SPIDER BASE FRAME 1I (¢190mn)
ANARZ=_R=ZRI (¢19cm)

S SPIDER BRACKET R (0 190mm,P=520m)
QA A 5=Hr 72 4 (919 P=520m)

- D
©
& 0
=0
&

- J

A72680X%6pcs.
Phillips Pan Head Screw M4 12 w/PW SW(1=3)
PR ARRART PR AR MAx12

-1 -



75 Snider Frames

Drop Table KY-CII/KT-S1502C1I (450<380/380)

N

J

RA730321QS

QS SPIDER BASE FRAME ASSY (¢190mm,P=380mm)
QS AINAZ—~—AME ASSY (¢ 19cm,P=380mm)

FR10190A
BROWN ROUND FRAME (¢ 190mm)

\ / ZEALFE (¢19cm)

Parts List
(" )
N\ J J J
RA730171QS RA730212 RA730202 FR930060

QS SPIDER FRAME BRACKET FOR 19CM QS SPIDER BRACKET L (9190m.P=380m) (S SPIDER BRACKET R (6190, P=380m)
QSANAZ—HEE 19CMAT  QSAA-Ho72H k¢ (019m,P=380m)  QSA/SAX—Hw74H £ (919m,P=380m)

e N D
e ©
=0
o &=
N VRN Y,
RA730340%2pcs. FR930660%4pcs. A72680X%6pcs.

SPIDER FRAME SPACER FOR 19CM (T=05m) ~ JOINT FELT FOR SPIDER FRAME T=4m  Phillips Pan Head Screw M4X 12 w/PW SW (1=3)
ANAE=FANF=T=05m 19CMH] ~ AISAR—FET2)Ub T=4mm  PBEHECHUEAIAR i AMRY Mix12

-2 =

SPIDER BASE FRAME 1T (¢190mm)
ANARZ=_R=ZRI (¢19cm)



Bandan

75, Spider Frames

Single Head KY-CAII (250%X400/400) with Optional Detachable Table

- y

FR10190A
BROWN ROUND FRAME (¢ 190mm)

\ / ZEALFE (¢19cm)

FR930911

QS SPIDER BASE FRAME ASSY CATI (¢190mm)
QS ASAZ—~—ZAM: ASSY CATI (¢19cm)

Parts List
(" N N )
N\ /NG J L Y
FR930920 RA730192 RA730182 FR930060

(S SPIDER FRAME BRACKET CAI FOR 19CM QS SPIDER BRACKET L (9190mn,P=520m) QS SPIDER BRACKET R (¢190mn,P=520m) ~ SPIDER BASE FRAME I (¢190mm)
QSA/AL—FRH CATL 19CMA QSA/MA-Hy TR E f (019mP=520m)  QSA/MA—HTRE A (019mP=520m) A/ SAHX—A—AK (¢19cm)

e N N\ D
e ©
=0
o &=
N VAN J Y,
RA730340%2pcs. FR930660%4pcs. A72680X%6pcs.

SPIDER FRAME SPACER FOR 19CM (T=05m) ~ JOINT FELT FOR SPIDER FRAME T=4m  Phillips Pan Head Screw M4X 12 w/PW SW (1=3)
ANAE=FANF=T=05m 19CMH] ~ AISAR—FET2)Ub T=4mm  PBEHECHUEAIAR i AMRY Mix12

-3-



75, Spider Frames

Single Head KT-CBIII (360%500/500) with Optional Detachable Table

- y

FR10190A
BROWN ROUND FRAME (¢ 190mm)

\ / ZEALFE (¢19cm)

FR930990

QS SPIDER BASE FRAME ASSY CBII (¢190mn)
QS A7 $AZ—~—ZF¢ ASSY CBII (¢19cm)

Parts List
(" N N )
N\ /NG J L Y
FR931000 RA730192 RA730182 FR930060

(S SPIDER FRAME BRACKET CBII FOR 19CM QS SPIDER BRACKET L (9190mn,P=520m) QS SPIDER BRACKET R (¢190mn,P=520m) ~ SPIDER BASE FRAME I (¢190mm)
QSA/AZ—fRH CBIN 19CMA  QSA/MAA-Hy 78R f (019mP=520m)  QSAVAA—HyTRE A (019mP=520m) AN SARX—A—AK (¢19cm)

e N N\ D
e ©
=0
o &=
N VAN VRN Y,
RA730340%2pcs. FR930660%4pcs. A72680X%6pcs.

SPIDER FRAME SPACER FOR 19CM (T=05m) ~ JOINT FELT FOR SPIDER FRAME T=4m  Phillips Pan Head Screw M4X 12 w/PW SW (1=3)
ANAE=FANF=T=05m 19CMH] ~ AISAR—FET2)Ub T=4mm  PBEHECHUEAIAR i AMRY Mix12

-4 -



Bandan

75 Snider Frames

Accessory List

(" N N N )
\ \_/

N /NG J L /NG y
FR930021 FR930031 FR930041 FR930051
0150mn SPIDER INNER FRAME ~ ¢120mn SPIDER INNER FRAME ¢90mn SPIDER INNER FRAME ¢70mm SPIDER INNER FRAME
d15cm A7 8AZ—P o12cm AISAZ—PIFE ®9cem A SAZ—PHFE o7em A2ISAR—HPE
( N N N )
N /NG J L /NG Y
FR10150A FR10120A FR10090A FR10070A

BROWN ROUND FRAME (¢150mn)
ZEALFE (¢15cm)

FR930060+FR930021
¢150mm SPIDER FRAME
o15cm A2 SAZ—H

BROWN ROUND FRAME (¢120mn)

ARUALFE (012cm)

FR930060+FR930031
¢120mm SPIDER FRAME
012cm AISAZ—H

BROWN ROUND FRAME (¢90mn)

ARAALRE (¢ 9cm)

FR930060+FR930041
¢90mm SPIDER FRAME
®9em A SAR—H

BROWN ROUND FRAME (¢70mn)

ARAALR (9 7cm)

FR930060+FR930051
¢70mm SPIDER FRAME
o7em AISAR—



75, Spider Frames

Single Head KT-CBIII (360%500/500) with Optional Detachable Table

FR10250A
BROWN ROUND FRAME (¢250mm)

\ / ZEAHFE (925cm)

FR931010

QS SPIDER BASE FRAME ASSY CBII (¢250mm)
QS AIRAZ—~—AM¢ ASSY CBII (¢25cm)

Parts List
( N N )
N /AN RN y
FR931020 RA730380 RA730370

S SPIDER FRAME BRACKET CBILFOR25CM QS SPIDER BRACKET L (9250m,P=320m) QS SPIDER BRACKET R (6250mm,P=520m)
QSANSAZ—H4H CBI 25CMJT] QSA/MA—H 74 R J (025mP=520m)  QSANAZ=FEI 725 1 (025m,P=520m)

. N N A ,
e © S ag
® -
=& FR930310
= SPIDER BASE FRAME (¢250mm)
() AINA B —R—=ARE (6 25¢m)
. /L J J
RA730410X2pcs. FR930660%4pcs. A72680X%6pcs.

SPIDER FRAME SPACER FOR 25CM (T=0.5m) ~ JOINT FELT FOR SPIDER FRAME T=4m  Phillips Pan Head Screw M4X 12 w/PW SW (1=3)
ANAR=FAN==T=05m 250l ASAZ—KET2)Ub T=dmm  AAEREBAHART LAY Mix12

-6 -



Bandan

75, Spider Frames

Drop Table KY-CII/KT-S1501CII (450X520/520)

FR10250A
BROWN ROUND FRAME (¢250mm)

\ / ZEIHFE (925cm)

QS SPIDER BASE FRAME ASSY (¢250mm,P=520mm)

QS ZISAZ—~—ZHE ASSY (¢p25cm,P=520mm)
Parts List
( N N )
N /AN RN y
RA730360QS RA730380 RA730370

QS SPIDER FRAME BRACKET FOR 25CM QS SPIDER BRACKET L (9250m,P=520m)
QSZANAZ—PH 25CMI QSR A=H 725 ) (625m,P=520m)

4 N )
N N J
RA730410x2pcs.  FR930660%4pcs.

SPIDER FRAME SPACER FOR 25CM (T=0.5mm)
AP E=RAN= = T=0.5m 25CMJ]

JOINT FELT FOR SPIDER FRAME T=4mn
ANARZ—FET )V T=4mn

S SPIDER BRACKET R (9250mn,P=520m)

QSR A 5=Hk7E 4i (025emP=520m)

4 )

N J
A72680X%6pcs.

Phillips Pan Head Screw M4 12 w/PW SW(1=3)
PR ARRART 77 AR MAx12

-7 -

FR930310
SPIDER BASE FRAME (6250m)
AINAB—R—=ARE (6 25¢m)



75 Snider Frames

Drop Table KY-CII/KT-S1502C1I (450<380/380)

FR10250A
BROWN ROUND FRAME (¢ 250mm)
\ / ZEIHFE (925cm)
QS SPIDER BASE FRAME ASSY (¢ 250mm,P=380mm)
QS ZINARZ—~_—ZH¢t ASSY (¢ 25c¢m,P=380mm)
Parts List
4 N N N
N AN AN J
RA730360QS RA730400 RA730390
(S SPIDER FRAME BRACKET FOR 25CM (S SPIDER BRACKET L (0250mm,P=380m) (S SPIDER BRACKET R (6250m,P=380m)
QSZANARZ—HH 25CMI QSAS A=K 72 H I (025mP=380m)  QSA/SA%—HEm 74 H £ (025m,P=380m)
4 N I
(3]
€= _
=®
@ FR930310
@ SPIDER BASE FRAME (6250m)
() AINAB—R—=ARE (6 25¢m)
\_ AN J
RA730410X2pcs. FR930660%4pcs. A72680Xx6pcs.

SPIDER FRAME SPACER FOR 25CM (T=0.5mm)
AP E=RAN= = T=0.5m 25CMJ]

JOINT FELT FOR SPIDER FRAME T=4mn

ANARZ—FET )V T=4mn

Phillips Pan Head Screw M4 12 w/PW SW(1=3)
PR ARRART 77 AR MAx12

-8 -



Bandan

75, Spider Frames

Accessory List — Standard

FR930320
¢210mm SPIDER INNER FRAME

4 )

- J
FR10210A

BROWN ROUND FRAME (¢210mm)

FR930330

¢190mm SPIDER INNER FRAME

- J
FR10190A

BROWN ROUND FRAME (¢190mm)

o21cm A2 SAZ—PRE ZAHALHE (0 21cm) ?19cm A2 SAA— ZALHFE (019cm)
Accessory List — Various
FR930330+FR930021 FR930330+FR930031 FR930330+FR930041 FR930330+FR930051
¢150mm SPIDER INNER FRAME ~ ¢120m SPIDER INNER FRAME ¢ 90mn SPIDER INNER FRAME ~ ¢70mn SPIDER INNER FRAME
015cm A7 SAZ—NFE o12cm AISAZ—PIRE ®9cem A SAZ—HFE oTem AINAZ—PRE
(" N N N )
N /L J J /)
FR930021 FR930031 FR930041 FR930051

¢150mm SPIDER INNER FRAME
o15cm A7 SAZ—P

¢120mm SPIDER INNER FRAME
012cm A2SAZ—PYR

¢90m SPIDER INNER FRAME
d9em A2 SAZ—AR

¢70mm SPIDER INNER FRAME
o7em AISAR—PRE

( N N N )
N\ /NG J L /NG Y
FR10150A FR10120A FR10090A FR10070A
BROWN ROUND FRAME (¢150mm) ~ BROWN ROUND FRAME (#120mm) ~ BROWN ROUND FRAME (¢ 90mn) BROWN ROUND FRAME (¢70mm)
FOAHE (015cm) HOARE (012cm) FOAHE (0 9em) HOAHE (¢ 7cm)



FR930310+FR930320 FR930310+FR930330
¢210mm SPIDER FRAME ¢190mm SPIDER FRAME
021cm AISARX—F 019cm A2 SAX—F

FR93031 FR930310+FRI30330-+FR930041 1
¢150mm SPIDER FRAME ¢120mm SPIDER FRAME ¢90mm SPIDER FRAME ¢70mn SPIDER FRAME
o15cm A7 SAZ—H¢ 012cm AINA R —H ®9cm AISNAZ—R o7em AISA R —H



I’y 4

=t I\/IL9 >~

2023-06-14-A



